
ID QTY REFPART DESCRIPTION

Pg. 1/3

20 min

EASY

ALLEN

Nº2,2,5
Nº2,2,3

Nº  10
N º , 1 2

SUZUKI SV650 ‘16-

14 1 10590tes rekcitS

10

9

12

13

3

3

3

2

TORNI-I7380-493

SILENBTM5-046/1

TAPON--------85

TOPE-PA12,7X3,5

M5x16 ISO 7380 Allen screw

M5 silentblock

M5 ISO 7380 Allen screw cap

Ø12,5 x 4 silicon separator

8

11

7

5

3

5

ARNV00000000311

ARNV00000000245

TORNIAI7380-310

M4x0,5 nylon washer

M5x1 Nylon washer

M4x16 ISO7380 Allen screw

5

6

3

4

1

5

1

1

SOPOR-3P-3-3169

SILENBTM4---062

SOPOR-3P-3-3169

SOPOR-3P-3-3169

Lower support

M4 silentblock

right metal support ( R )

left metal support ( L )

11

12

9196 F/H/N/WM3

10647J/C

Screen

Semi-fairing Retro

1 Person

M O U N T I N G I N S T R U C T I O N S

)KOOL NOBRAC( ORTER GNIRIAF-IMES)KCALB( ORTER GNIRIAF-IMESREF 3169 REF 3170

https://www.motorcycleid.com/puig/


 M O U N T I N G  I N S T R U C T I O N S

Pg. 2/3

SUZUKI SV650 ‘16-

1 2

4

DISASSEMBLY ASSEMBLY

ASSEMBLYASSEMBLY

3

9

A
3

4

A

9

13

13

9

11
10
12

12

11

10

10

11

12

2

A

 A ORIGINAL SCREW



 M O U N T I N G  I N S T R U C T I O N S

SUZUKI SV650 ‘16-

5 6

8

ASSEMBLY

ASSEMBLY

ASSEMBLY

ASSEMBLY

7

1

14

14

14

14

7

14

8

6
6

6

6

6

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



